000

G000

5000

4000

3000

2000

1000

Run 5833 triggerwise, sums: All

e A A A B

Endries: 82708

Mlzan: 4544.80148 4 41857

Std Dew: 10434089 +- 19604

1000 2000 3000 4000 5000 6000
sum
Run 5833 triggerwise, sums: Beam ON, Laser ON
—— Helicity==0
— Helicity==1
Enirie=: 0
Mean: 0U0000 /- 0.0000

Sbd Dev: (L0000 4+~ 00000

Enitries: 0

Mean: 00000 4~ 0.0000

Std Deery: 0.0000 4 00000

7000

6000

5000

4000

3000

2000

1000

Run 5833 triggerwise, sums: Beam OFF

D B A B

Endries: 22708

Maan: 4244.8014 4. 4.1857

Sid Derw: 10434084 +'- 3.8604

1000 2000 3000 4000 5000 6000

sum

Run 5833 triggerwise, sums: Beam ON, Laser OFF

— Helicity==0
— Helicity==1

Entries: 0

Mean: 000000 +/- Q.000

Sid Drev: L0000 +- 0.0000




